
Сегодня мы продолжаем 
повторять тему «Десятичные 
дроби»
В тетради запишите число 25.05
Повторение «Уравнения»



Повторение. 
Уравнения.



 Найдите корни уравнения(устно):
х × 1 = 0         0 × х = 1
х – х = 0                х – х = 1
х – 10 = 10      х + 10 = 10
0 × х = 0 0 + х = 10
х – 10 = 0 х : 10 = 10
0 : х = 1.



 Решить уравнение:
а) (х – 5,6) : 12 = 3,7
б) (х + 2,1) × 4 = 15,2 
в) 3,4 – 9х = 1,6
д) s : 2,3 = 4,6
е) 9,88 : (6,7 – х) = 2,6
ж) 6,7 × (7,9 – у) = 28,81
з) 9,14z – (3,78z + 2,87z) = 12,45.


